Becoming Elizabeth - The series and the history
behind it
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1 The actress who plats Elizabeth 11 In episode 2 and in reality, Catherine Parr
2 The actor who plays Thomas Seymour and Edward Seymour argue over
3 The first episode is called "Keep your Catherine's possession of these
........ bright" 12 In reality, Thomas Seymour was alleged
4 Elizabeth's governess to have cut Elizabeth's gown into a
5 Catherine Parr's property which she leaves hundred pieces in the gardens of this
to Elizabeth in the series property
6 Thomas Seymour is planning to marry 13 In the summer of 1548, Catherine Parr sent
this girl off to King Edward VI Elizabeth to stay at Cheshunt with this
7 This man fights alongside Edward man and his wife
Seymour and acts as his spy before 14 Attacking someone at court, as Robert
changing sides to Mary Dudley is fictionally portrayed as doing,
8 The entertainment/sport enjoyed by Mary could lead to the loss of this
and Edward in episode 4 15 The actress who plays Mary
9 The real property where Catherine Parr 16 The man behind the Book of Common
gives birth to her daughter in August 1548 Prayer who seems to be missing from this
10 In the show, Thomas Seymour pretends series
to be this in episode 2 as he rouses the 17 The actress who plays Lady Jane Grey
household 18 The age of Edward when he became King

Edward VI.
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